
     
  ,            
: -/   ,        

 :   ,                    
  ( ,  ),  ( ,  ),   ( ,  ),      (
,  )    ,           /    (  )-  
        , , , , , , , , , , , , ,  
 , -  

1.       ?
(a)   (b)   (c)  
(d)   
2.     ?
(a)   (b)   (c)  
(d)  
3.     ?
(a)  (b)  (c)  (d)   
4.      ?
(a)  (b)  (c)  (d)   
5.          ?
(a)  (b)  (c)  (d)   
6.      ?
(a)  (b)  (c)  (d) 
7.          ?
(a)  (b)  (c)  (d) 
8.    ?
(a)  (b)  (c)   (d)  
9.     –    ?
(a)   (b)   (c)   
(d)  
10.         ?
(a)  (b)   (c)  (d)   
11.       ?
(a)   (b)   (c)   (d)   
12.       ?
(a) , ,  (b) , ,  (c) , , 
(d) , , 
13.     ?
(a)   (b)   (c)  
(d)   
14.      6   ,  
        ?
(a) 2 /  (b) 3 /  (c) 4 /  (d) 5 / 
15. 125   50 /       
 5 /        ?
(a) 20  (b) 30  (c) 10  (d) 5 
16.    2490;    6.5%  
8.5%-  ,    ?
(a) 1411  1079 (b) 1410  1009 (c) 1001  1070 (d) 1311  1179

17.  6%  1954  5   31   
3500    ?
(a) 83  (b) 84  (c) 80  (d) 88 
18.   1    2,500     9

  1000         4%

        
(a) 70  (b) 100  (c) 90  (d) 80 
19. 5%    8      2  

          ?

(a) (b) (c) (d)

20. :: :: :?
(a)  (b)  (c)  (d) 
21.        , ‘‘ 
   ’’     ?
(a)  (b)  (c)  (d) 
22.       , ‘‘ 
           
      ?
(a)  (b)   (c)   (d)   
23.       
(a)  (b)  (c)  (d) 
24.           
   ?
(a)  (b)  (c)  (d) 
25.          
/     
:  ,    
     
: . ,         
     -    

. ,    
(a)       (b)     (c)  
  (d)     
26.  YELL     2551212 ,  LENT– 
  ?
(a) 1251420 (b) 1251620 (c) 1351420 (d) 1251421 

27.      , ‘‘   
  ’’,    ?
(a)  (b)  (c)  (d)   
28.      ?
(a) :  (b) :  (c) : 
(d) : 
29. : ::? : 
(a)  (b)  (c)  (d) 
30.      ,     
 ?



(a)  (b)  (c)  (d) 
31.          
    
: ,      
     -  ,  
   ?
: . ,         
 
. ,          
(a)       (b)     (c) 
   (d)      
32.      ()    ?
        
 
: .    ,    
.        
(a)      (b)     (c)   
    (d)     
33.         
     ?
(a)     (b)   (c)  
(d)   
34. ,          ?
(a)  (b)  (c)  (d) 
35.    ?
(a)   (b)   (c)    (d)  

36.           
?
(a)   (b)  (c)    (d)  

37.         ?
(a)   (b)   (c)   (d)  
38.           
       ?
(a)   (b)   (c)   (d)

  
39.        ?
(a)   (b)   (c)   (d) 

40.     ‘  ’  
   ?
(a)    (b)    (c)   
(d)   
41.         
?
(a)  (b)  (c)  (d) 
42.       
  ‘ ’ ?
(a)   (b)   (c)   (d)  
43.       ?
(a)   (b)   (c)   (d)  
44.       ?

(a)   (b)   (c)   (d)  
45.       ?
(a)  (b)  (c)  (d) 
46.     ?
(a)  (b)  (c)  (d) 
47.         ?
(a)  (b)  (c)  (d) 
48.         ?
(a)  (b)  (c)  (d)   
49.      ?
(a)  (b)  (c)  (d) 
50.         
  ?
(a)   (b)    (c)   (d)  

ANSWERS

1. (a) 2. (d) 3. (a) 4. (b) 5. (a)  6. (a) 7. (d) 8. (d) 9. (c) 10. (c) 11.

(c) 12. (a) 13. (c) 14. (a) : , 
  x / 
   2x / 

  = ( +  )

6= (2x+x)

, = 6

3x=12

x=4 

  = 4 / 
  = 8 / 

  = ( –  )

= = (8–4)= 2 /  

15. (c) :    (50–5)= 45 / 
      = 125 
45000   =3600 

1 ,, ,,  = 

125 ,, ,, = = 10 

16. (a) :  ,  x  y.

,  , x + y = 2490 ... ... (1)

 x- 6.5% = y- 8.5% ... ..... (2)

(2)  ,

, 6.5x = 8.5y,    ∴ x =

, (1)  ,
, 

∴ y = 2490× = 1079, ∴ x = 2490 – 1079 = 1411.

∴   = 1411  1079.

17. (b)       = 26 + 28 + 31 + 30 + 31



= 146  =  =       ∴  = 

, 100 1   = 6 

∴ 100    ,,   ,,      ,,  = 

∴ 1      ,,     ,,    ,,      ,,  = 

∴ 3500     ,,     ,,    ,,      ,,  =  = 84

∴   = 84 
18. (c)      1000     1000

 9   (2,500 – 1000) , 1,500  1   
100  12   4 

∴ 1      ,,     12    ,,     ,, 

∴ 1000   ,,    12    ,,     ,,   = 

∴ 1000   ,,       9    ,,     ,,   =  = 30 

, 1,500  1   = = 60 

∴   (30 + 60)  = 90   
19. (d) 8       = 8  5%

=  = 0.4 

2         = (8 – 2) 
= 6 

∴     = =

20. (b) :    ,  
  21. (a) :     
        22. (c) 23. (a) 24. (a)

25. (b) 26. (a) 27. (a) 28. (d) :    
        
    ,      29.

(c) :      30. (b) 31. (c) 32. (c) 33.

(c) 34. (c) 35. (b) 36. (b) 37. (c) 38. (a) 39. (c)  40. (a) 41. (b) 42.

(d) 43. (b) 44. (d) 45. (d) 46. (c) 47. (a) 48. (a) 49. (c) 50. (a)


